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Note : This question paper consists of three 

Sections A, B and C. Attempt the questions as 

per instructions given in each Section. 

Section—A 
(Long Answer Type Questions) 

Note : Attempt any two questions from this  
Section. 2×20=40 

1. Explain the income method of estimating 
National Income. What are the factor incomes 
taken into account in this method ? 

2. What do you understand by inflows of foreign 
capital ? Discuss various forms of such capital 
inflows. 
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3. Define Flow of Funds System of Accounts. Why 
is Flow-of-Fund System of Accounts considered 
as the most comprehensive accounting system ? 

4. Distinguish between the human development 

and human resources approaches to the social 
sector. Discuss how the social sector is treated 
in the Indian national income accounts. 

Section—B 

(Medium Answer Type Questions) 

Note : Attempt any four questions from this  
Section. 4×12=48 

5. Explain the concept of services sector. What are 
its components ? Point out its importance in a 
growing economy. 

6. Why do we distinguish between national wealth 

and national capital ? Point out the significance 
of national capital for an economy. 

7. What is meant by investment ? How do you 

measure investment ? Differentiate between 
gross and net investments. 
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8. Explain the concept of environmental 
accounting. How do you measure 
environmentally corrected GDP ? 

9. Briefly discuss the concept of Net Economic 
Welfare. What are its implications ? 

10. Explain the concept of physical quality of life 

index. Evaluate the effectiveness of this index 
as a measure of development. 

Section—C 
(Short Answer Type Questions) 

11. Distinguish between any two of the following : 

2×6=12 
(a) Stock Variable and Flow Variable 
(b) Financial Assets and Non-Financial Assets 
(c) Economic Activity and Non-Economic 

Activity 
(d) Indirect Taxes and Subsidies 
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      EEC-010 

Lukrd mikf/ dk;ZØe (ch- Mh- ih-) 

l=kkar ijh{kk 

fnlEcj] 2022 

(,sfPNd ikB~;Øe % vFkZ'kkL=k) 

bZ- bZ- lh--010 %  jk"Vªh; vk; ys[kkadu 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % iz'u&i=k rhu Hkkxksa d] [k vkSj x esa foHkkftr gSA 

iz'uksa ds mÙkj izR;sd Hkkx ds funsZ'kkuqlkj nhft,A 

 

Hkkx&d 

(nh?kZ mÙkjh; iz'u) 

uk sV % bl Hkkx ls fdUgha n k s iz'uksa ds mÙkj nhft,A 

   2×20=40 

1- jk"Vªh; vk; vkdyu dh vk; fof/ dk o.kZu 

dhft,A bl fof/ esa lfEefyr miknku vk; dkSu&lh 

gSa \ 
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2- fons'kh iw¡th ds vUr%izokgksa (inflows) ls vki D;k 

le>rs gSa \ ,sls iw¡th vUr%izokgksa ds fofo/ Lo:iksa 

dh ppkZ dhft,A 

3- fuf/&izokg [kkrk i¼fr dh ifjHkk"kk nhft,A [kkrksa dh 

fuf/&izokg&i¼fr dks lokZf/d O;kid ys[kkdj.k 

i¼fr D;ksa ekuk tkrk gS \ 

4- lkekftd {ks=k ds lEcU/ esa ekuo fodkl ,oa ekuo 

lalk/u n`f"Vdks.kksa esa vUrj Li"V dhft,A ppkZ 

dhft, fd Hkkjrh; jk"Vªh; vk; [kkrksa esa lkekftd 

{ks=k ds fo"k; esa D;k fd;k tkrk gSA 

Hkkx&[k 

(eè;e mÙkjh; iz'u) 

uk sV % bl Hkkx ls fdUgha p kj iz'uksa ds mÙkj nhft,A 

   4×12=48 

5- lsok {ks=k dh ladYiuk dk o.kZu dhft,A blds ?kVd 

D;k gSa \ c<+rh vFkZO;oLFkk esa blds egRo dks 

n'kkZb,A 

6- jk"Vªh; lEifÙk vkSj jk"Vªh; iw¡th esa Hksn djuk gekjs 

fy, D;ksa vko';d gS \ fdlh vFkZO;oLFkk ds fy, 

jk"Vªh; iw¡th ds egRo ij izdk'k Mkfy,A 
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7- fuos'k ls D;k vk'k; gS \ vki fuos'k dks dSls ekirs 

gSa \ ldy ,oa fuoy fuos'kksa esa vUrj Li"V dhft,A 

8- i;kZoj.kh; ys[kkdj.k dh ladYiuk dk o.kZu dhft,A 

i;kZoj.kh; la'kksf/r thMhih dks vki dSls ekirs gSa \ 

9- fuoy vk£Fkd dY;k.k dh ladYiuk dh la{ksi esa 

ppkZ dhft,A blds fufgrkFkZ D;k gSa \ 

10- thou lwpdkad dh HkkSfrd xq.koÙkk dh ladYiuk dk 

o.kZu dhft,A bl lwpdkad dh izHkkfork dk 

ewY;kadu] fodkl ds ,d iSekus ds :i esa dhft,A 

Hkkx&x 

(y?kq mÙkjh; iz'u) 

11- fuEufyf[kr esa ls fdUgha n k s esa vUrj Li"V dhft, % 
 2×6=12 

(d) LVkWd pj vkSj izokg pj 

([k) foÙkh; ifjlEifÙk;k¡ ,oa xSj&foÙkh; ifjlEifÙk;k¡ 

(x) vk£Fkd xfrfof/ ,oa xSj&vk£Fkd xfrfof/ 

(?k) vizR;{k dj ,oa lfClMh 
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